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22 P AR SERIKERGHISTH

AT L. P &g #-131 134 £-137 | £-134+ 137 o
(B af25) |(Bal2g)| (Bal2F) | (Ba/27)
100.3.18 Ko EEu 11 : 10 10
100.3.22 5§ it KA & 9 i : :
oG ( ok & B
3 | 100824 | *° ﬁ'; o "R munes 14.8 16.7 18.9 35.6
4 | 10046 5 R b1 d g - : 414 414
5 | 100.4.13 B 1 a g 3.42 5.4 6.0 11.4
6 | 1004.14 RS Rk frl G & 1.74 0.6 0.8 15
7 | 100.4.20 1A b1 d g 3.32 : 7.0 7.0
8 | 100421 e I 3.5 09 09 18
B101E40 1 p#
W ARRE
9 | 100.4.22 ST DER R 9.6 50.7 55.3 106.0 ,
P B (370 8 %/27)
AL
10 | 1005.19 4 E¥ EEu i 18 20 38
B101E40 1 p#
B IS (8 ik CER RS
11 | 100.6.28 DER R . 37.8 434 81.2 ,
2400 B (370 B 2./2 ) »
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EHp

. -131
(B 202 7)
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(B su/=7)
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108.3
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60.3
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121.5

A EYEREE
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37.6
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BE | P &b A 4 vl .-131 4-134 46 -137 4% -134+4% -137 #3r
(B a/27) |[(Balaq)| (Ba/ag) | (Ba/i>T)
18 | 100.7.20 B F KA - 36.5 29.4 65.9
I A OB R k(0L R
19 | 100.7.21 S R ) SIS - 34.9 33.3 68.2
20 | 100.7.21 S SRR ) kA & - 7.3 9.0 16.3
21 | 100.7.29 i SVl ) kA & - 3.0 35 6.5
22 | 100.7.29 S ST ) kA & - 6.2 8.0 14.2
AUEYEREE
Wl A R
23 | 100.8.12 4 R, kA& - 71.3 84.8 156.1 L
R i (370 B /2 7)
B101&40 1pw
e o i * 2 RHRAE
24 100.8.16 K g - 57.4 70.2 127.6 ,
g " (370 B %/25) >
25 | 100.8.16 3k F i - 31.8 31.6 63.4




Bt | Eep 5t i 475 #-131 #-134 $137 | -134+4-137
(B ai25) [(Eafaq)| (paias) | (8a/as)
26 | 100.08.23 ey kA & i 4.0 38 78
27 | 1000823 | £ mkwa 4 ¥ kA & i 3.2 41 73
28 | 100.08.26 AR kA& i 41 5.1 9.2
29 | 100.08.26 AR R KA i 5.9 7.7 13.6
30 | 100.08.26 FH A kA & i 8.2 11.7 19.9
31 | 100.08.26 Ey kA & i 74 6.5 13.9
32 | 100.09.02 AR kA& i 6.3 8.1 14.4
33 | 100.09.05 lﬁi“@{jﬁ:j A i es - 39.7 375 77.2
34 | 100.09.07 AR & KA i 9.6 12.0 216
35 | 100.09.07 By KA & i 6.6 71 13.7
36 | 100.09.00 | £ Ffird b » KA & i 2.2 3.0 5.3
37 | 100.09.09 LA KA i 3.8 5.1 8.8
38 | 10009.13 | £ &% Fa ¢ KA & i 3.3 6.0 9.3
39 | 100.09.13 4 A KA S i 5.8 5.9 11.7
40 | 100.09.16 R KA & i 7.7 8.3 16.0
41 | 100.09.20 FH A KA & i 6.1 7.0 13.1
42 | 100.09.29 %F Y i 23.0 32.0 55.0




BEL| EfEp &t A #.-131 4-134 4-137 | 45-134+4#-137 #ar
(B af2T) | (Bal2q)| (Bal2F) | (Ba/>9)

43 | 100.10.04 L RE AR KA & - 2.4 31 55
B101 &40 1§
B SRR
44 | 100.10.04 2 R, A& - 58.1 64.4 122.5 g
R k& (370 B /2 7)) >
DEX S
45 | 100.10.05 33 K % % ] 145 16.2 30.7
46 | 100.10.20 33 K % % ] 20.7 24.0 447
47 | 100.10.25 LR R kA - 3.7 5.4 9.0
48 | 100.10.25 4R, kA - 19.6 28.0 47.6
49 | 100.10.25 - kA - 6.7 10.8 175
50 | 100.10.28 R KA 5 - 16 24 4.0
51 | 100.10.31 o i kA5 - 4.4 6.1 10.6
52 | 100.11.01 LR KA & - 5.7 72 128
53 | 100.11.07 paAnT RChe % el 8§ 33.4 46.7 80.1
. . t 1l g - . . .
MR ) ™
54 | 100.11.07 paAe R he % el 8§ 32.6 40.2 72.8
. . t 1L g - . . .
e 2 ED a
55 | 100.11.09 45 K% A - 6.6 75 14.1




BB | EHop &= 2 A ) @ -131 4%-134 44-137 44 -134+4%-137 #2x
(Bs/27) | (B&/2>T)] (Bs/a>7) (B #/27)
56 | 100.11.10 3y s - 43.8 52.4 96.2
B E R (b e ki N
57 | 100.11.11 4 ) be1 85 - 26.8 38.1 64.9
58 | 100.11.11 F oA k#& & - 2.7 4.1 6.7
59 | 100.11.11 - kA & - - 2.0 2.0
60 | 100.11.14 - k& & - 25 4.8 7.3
61 | 100.11.25 e 3 - 13.4 18.2 31.6
62 | 100.11.30 2SN ) kA& - 6.2 8.2 14.4
63 | 100.12.14 S F e - 3.3 4.1 7.4
B101 &40 1p=
: : e dio g AR A
64 | 100.12.17 HER V- - 132.0 189.0 321.0 } .
ik : (370 B #/27) »
65 | 100.12.28 1y 4 be1 & 5 - 4.6 5.7 10.3
101 &40 1p
Ao A RRE
66 101.1.4 3 T - 49.9 69.4 119.3 .
g i (370 B 2./ %) »




BEE | 45 p 2 £t N #-131 $-134 4 -137 4 134+4% 137 .
(B 2/25) |(Ba/29)| (Balaq) | (Bii29)
RS T e
67 | 101.02.06 ) c1 8% ; 8.8 11.7 20.5
68 | 101.02.17 3 K - 27 5.6 8.3
B4 (0 8 R R
69 | 101.02.23 8 ) R ; 8.9 15.1 24.0
70 | 101.02.23 s i i 35.4 45.9 813
B4R (4 & R R
71 | 101.02.23 8 R ; 2.9 ; 2.9
B101 247 1p
| Be i v AR E
72 | 101.02.29 BE e Y2 ] 58.5 85.0 1435 o
2 ¥ (370 B 2/2 ) »
73 101.03.08 F"} ?;(5 }F) 3 - 42 .4 54.7 97.1
74 101.03.14 % &k rx- - 16.4 27.4 43.8
B101&4° 1p#
— odoag o A RHERE
75 | 101.03.15 iR Y3 ; 52.6 97.4 150.0 '
i i (370 B &/2 %)
76 | 101.03.16 s RE A - 22 3.1 5.3




AR I E &t A . -131 4 -134 $-137 | 4-134+45-137 e
(B2 7) | (Bal27)| (Bal27) | (Bala)
77 | 101.03.23 SFRE F - 6.3 9.4 15.7
78 | 101.04.06 s K - 12.7 19.8 32,5
BFHAS RAR
£ 8 (370 B /2
79 | 1010406 | B A HHE i i 71.9 100.6 1815 RFET0 R 5z
T) 0 HTER
Kz
80 | 101.04.11 bk K e i - 11.8 16.6 28.4
81 | 101.04.14 GE T K - 31.9 445 76.4
82 | 101.04.19 K F i - 8.8 11.1 19.9
83 | 101.04.19 e Y3 - 18.4 29.0 47.4
B FREA S RAR
P g *#-1-%(370 A
84 | 101.04.27 G F B F ] ; 42.2 60.9 103.1 ) -
S) 0 R
=
85 | 101.05.03 HE X3 - 8.3 11.0 19.3




BE | EHp B 5t N 131 4-134 $-137 | &-134+6-137 .
(Ba/ad) [(Ba/2q)| (Bilag) | (Bii>q)
86 | 10153 Lok E KA - 17.0 27.0 44.0
BENA R 5 AW
| 28 (370 B /2
87 | 101523 sopE EAE - 50.0 77.0 127.0 f }(J, U
Ty MR
T=
88 | 10153 %K KA - 34.0 53.0 87.0
BFNA S RAR
o | 2 (370 B 5/ 2
89 | 101511 BRRE 3 - 47.6 81.8 1295 e o
Ty R 3
%z
WEF (e i ;
90 | 101511 Fte mmt 4 5 - 16.9 22.2 39.1
A4
B R A S RAR
RAE(ST0 B B/ 2
01 | 101.5.18 BERE K ] 49.3 79.2 1285 ) ,
" T L
%z
92 | 101.5.29 EER KA - 185 43.6 62.1
BB e R
03 | 101530 | "“iﬁ 4,)’? L1z - 10.1 16.9 27.0
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BE.| #Hp g4 A AE | #-131 44-134 4 -137 45 -134+4% -137 %
(B 3/2T) | (B&/29F)| (B /2T) (B %/27)
94 | 101.6.11 % B 31 - 12.2 17.7 29.9
95 | 101.6.15 % 31 - 28.6 45.8 74.4
96 | 101.6.19 S 31 - - 0.2 0.2
97 | 101.6.20 £ - - 11.0 17.9 28.9
BEA & AR
98 | 101.6.29 BxE 33 - 47.6 76.3 123.9 B0 n/n
T)o AR
Hir=
99 | 101.7.13 K r 33 - 9.7 14.1 23.8
100 | 101.7.24 2K E 33 - 12.5 26.1 38.7
101 | 101.7.24 % F 31 - 24.4 32.8 57.2
102 | 101.7.25 @i‘é‘%;:z AL el 85 - 10.8 15.2 26.0
103 | 101.7.25 W E A 33 - 34 5.3 8.7
104 | 101.7.26 PskAR F g - 12.5 20.7 33.2
105 | 101.7.26 AR 33 - 2.3 3.8 6.1
106 | 101.7.31 2P8F r 31 - 28.7 435 72.2
107 | 101.7.31 28 F r 3 - 3.9 6.3 10.2
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BSL | EHp 8 & A W . -131 4-134 4-137 4% -134+4% -137 =
(Bs/2T) [(BalaT)| (B/aT) | (Ba/27)
108 | 101.8.9 B F FH - 7.1 11.0 18.1
109 | 10189 | =t g(f) A ias : 5.0 8.1 13.1
110 | 101.8.10 BF 31 - 15.5 24.7 40.2
111 | 101.8.10 BF 31 - 14.3 25.0 39.3
112 | 101.8.10 BFE 31 - 23.2 40.7 63.9
113 | 101.8.14 BEFE 31 - 10.7 18.9 29.6
114 | 101.8.22 SV T AR el 8 & - 3.0 4.7 7.7
115 | 101.8.28 3 r 31 - 3.2 6.5 9.7
116 | 101.8.31 B F 31 - 6.7 10.3 17.0
117 | 101.9.6 F & Fu - 4.9 6.0 10.9
118 | 101.9.13 BER Fi - 3.2 5.0 8.3
119 | 101.9.20 g+ 1S 31 - 2.1 3.8 6.0
120 | 101.9.27 B F 3 - 24.9 45.6 70.5
121 | 101101 | F ?;T ) R R - 10.6 13.2 23.8
122 | 101.10.2 E F A - 11.6 21.0 326
123 | 101.10.3 R 3 - 16.6 29.9 46.5
124 | 101.10.3 NS KA - 12.4 21.3 33.7
125 | 101.10.4 KUl KA - 4.3 8.8 13.0
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Bog.| #tkp &b A W . -131 45-134 45-137 45 -134+4% -137 =
(Bs/2T) [(BalaT)| (B/aT) | (Ba/27)
126 | 101.10.4 Fe 3 - 4.4 7.6 12.0
127 | 101.10.4 Y3 3 - 7.5 10.0 17.5
128 | 101.10.8 =5 P fr vl 8 & - 15.4 28.0 43.4
129 | 101.10.11 &+ k53 - 2.9 5.7 8.6
130 | 101.11.7 Y3 3 - 14.0 17.2 31.2
131 | 101.11.14 = 3 31 - 7.3 1.4 8.7
132 | 101.11.14 R k3 - 2.1 5.7 7.8
133 | 101.11.15 BF V3 - 3.1 5.8 9.0
134 | 101.11.15 A F AR - 1.7 2.6 4.3
135 | 101.11.20 %5k V3 - 0.6 1.3 1.9
136 | 101.11.23 BF V3 - - 1.3 1.3
137 | 101.11.29 BER V3 - 8.8 15.0 23.8
138 | 101.12.20 BER V3 - 3.6 6.9 10.5
139 | 101.12.27 B F F A - 3.2 4.3 7.6
140 | 101.12.27 B 3 - 1.4 2.4 3.8
141 | 102.1.4 % F A 3= - 2.8 6.6 9.5
142 | 102.1.17 B F F A - 16.1 28.0 44.1
143 | 102.1.23 BF 3 - - 215 215
144 | 102.1.25 A 31 - - 5.5 5.5
145 | 102.2.4 SERE 31 - 2.2 3.9 6.1
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BEL| P B A7 5| . -131 4 -134 #-137 | 45-134+45-137
(B 2/27) | (Bal2T)| (Bala>7) | (Ba/as)
146 | 102.2.6 i - 16.0 29.3 453
147 | 102.2.21 K - - 6.8 6.8
148 | 102.2.27 I3 - - 05 05
149 | 102.2.27 I3 - 5.3 9.3 14.6
150 | 102.3.4 I3 - 4.6 21.0 25.6
151 | 102.3.7 I3 - 14.2 26.0 40.2
152 | 102.3.7 I3 - 3.8 8.0 11.8
153 | 102.3.7 '3 - 27.4 41.9 69.3
154 | 102.3.8 EH - 8.5 17.4 25.9
155 | 102.3.19 EH - 5.4 9.0 14.4
156 | 102.4.2 EH - 5.6 13.6 19.2
157 | 102.4.10 Eig - 2.1 3.9 6.0
158 | 102.4.11 FH - 1.4 2.6 4.0
159 | 102.4.15 KA - 75 15.3 22.8
160 | 102.4.16 E A - 1.2 2.5 3.6
161 | 102.4.19 E A - 5.6 10.9 16.5
162 | 102.4.19 F A - - 5.7 5.7
163 | 102.4.19 E A - 5.0 8.3 13.4
164 | 102.4.29 F A - 2.1 3.1 5.2
165 | 102.5.2 3 - - 2.5 2.5
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BE.| #Hp g4 A ) #-131 44-134 44-137 4 -134+4%-137 %
(B 3/2T) | (B&/29F)| (B /2T) (B #/27)

166 | 102.5.3 N Y33 - 1.0 1.9 2.9

167 | 102.5.8 A 3] - - 4.8 4.8

168 | 102.5.15 HE A 33 - 3.7 10.6 14.3

169 | 102.6.6 7 # - 2.0 5.4 7.4

170 | 102.6.14 % F 33 - 14.1 30.8 44.9

171 | 102.6.17 T K r 33 - 6.3 15.3 21.6

172 | 102.6.19 BE 33 - 16.7 33.8 50.5

173 | 102.6.28 7 X - - 2.0 2.0

174 | 102.7.2 W E 33 - 1.9 35 5.4

175 | 102.7.4 W E 33 - - 0.9 0.9

BREHAS BAR
176 | 102.7.10 Y3 A - 33.6 74.2 107.8 Jf FEUO R n/z
7)o H R AR
L=

177 | 102.7.10 % r 31 - 12.5 31.5 44.1

178 | 102.7.10 3 3 - 23.0 49.9 72.9

179 | 102.7.11 % Kb F g - 1.5 3.6 5.1

180 | 102.7.11 %K r 3 - 4.1 9.0 13.1
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R 5L

EHp

=t A W . -131 45-134 45-137 45 -134+4% -137 =d
(Bs/2T) [(BalaT)| (B/aT) | (Ba/27)
181 | 102.7.26 B F R 3 - - 5.4 5.4
182 | 102.8.15 $FTHFR 31 - 0.5 1.7 2.2
183 | 102.8.15 BF 3 - 0.8 2.1 2.9
184 | 102.9.24 BF 3 - 1.1 2.2 3.3
185 | 102.9.24 BFE 3 - 2.9 5.8 8.7
186 | 102.9.26 BF V3 - 1.7 3.6 5.3
187 | 102.9.26 Y3 3 - 1.4 4.4 5.7
188 | 102.10.28 S kA& - 1.6 4.4 6.0
189 | 102.11.8 BF V3 - 5.1 9.0 14.2
190 | 102.11.14 B F 31 - - 2.3 2.3
191 | 102.11.28 BF 31 - - 6.7 6.7
192 | 102.11.28 E27bF 3 - - 3.6 3.6
193 | 103.01.22 B F 3 - - 4.5 4.5
194 | 103.02.21 BF F A - - 1.2 1.2
195 | 103.02.24 BEERS 3 - 15 3.9 5.4
196 | 103.05.26 Y3 3= - 23.1 65.1 88.2
197 | 103.06.25 BF F A - - 7.9 7.9
198 | 103.07.18 ¥ X3 - - 14.7 14.7
199 | 103.08.08 E¥3 KR - - 6.3 6.3
200 | 103.08.18 S & As Fap - 1.3 3.7 5.0
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BEL | kP =2 A #-131 4 -134 44 -137 45 -134+4% -137
(B a/27) | (Ba/2>T)| (B&/2T) | (Bi/aT)
201 | 103.09.03 BE 34 - - 2.1 2.1
202 | 103.09.19 S FF¢ 3 - 12.8 39.7 52.5
203 | 103.09.25 4L FES K % #E - 3.9 13.8 17.7
204 | 103.10.23 E 3 - 12.6 42.1 54.7
205 | 103.12.11 7 # - 14.1 44.5 58.6
206 | 104.01.22 7 # - 6.8 17.8 24.7
207 | 104.01.29 mE X x4 - 1.2 3.0 4.2
208 | 104.04.24 N - N W - - 0.34 0.34
209 | 104.05.13 2 E R 34 - - 2.48 2.48
210 | 104.06.16 aE F A - 3.7 15.1 18.8
211 | 104.06.16 | #FF = K RfcE # A - 2.7 6.8 9.5
212 | 104.09. 15 B F 33 - - 1.7 1.7
213 | 104. 09. 24 V3 FHE - - 3.8 3.8
214 | 104.10. 20 % F FHE - - 1.9 1.9
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